FALE] Y-y F AR —Y KK R 1/3
HIH : 20234E11H 120 (H) &85 0 BB HHIEA T — L (50m)
No. 17 Z+F 50m BEH BA L — R R A& 30. 63
L 10FUT >
B K 4 & FE KK B i
| &Y% E£E B I GH#if /N5 9/ 2 33.18 8%% ( 0.76)
2 EH<H B I G#Hifi /N 5/ 02 34.43 7#% ( 0.69)
3B XA B 1 GHifE /N 5/ T 34.73 Tk (0.73)
4 AR D B I GpfHE /3 6/7 35. 63 8#k ( 0.73)
5 R Zh KTP2%2 /2 4/ 1 35. 87 11#% ( 0.62)
6 FANEIFEHE B 1 GHR 43/ 3 35.96 8k ( 0.72)
7 B R B 1 GHif /N3 5/3 36. 28 Tk ( 0.83)
8 HHmiE A B 1 G#HifE N2/ 1 36. 83 5% ( 0.97)
9 fAA A B I GHifE N4 1/ 5 37.08 % ( 0.89)
10 \it #Bf BIGEfMHE /4 4/ 3 37.26 7k ( 0.87)
11 /g i B I GH#ifE /N3 3/ 6 37.68 9% ( 0.76)
11 Bl B3R B 1 GH#if N2 4/ 6 37.68 9% ( 0.99)
13 HH Y BIGT 3 /N5 3/ T 38. 44 4% ( 0.78)
14 #%  BH BI1GEME /44 2/6 38. 54 4% (0. 86)
15 InlH Ay B I GHiifE /N3 1/ 2 39.25 5k (1.04)
16 5 Hif BIGHfMHE /M 4/ 5 39.28 4%k ( 0.71)
17 FA3E  BIRE B I GH#f /N3 1/ 7 40. 51 8% ( 0.74)
18 ARFF | BIGT = N2/ 5 40. 97 4% ( 0.69)
19 SHIAAFE BIGT 2 /N3 2/ 4 41.56 7% ( 0.85)
20 FriN I BIGT 3 2 3/ 8 43. 49 65% ( 0.68)
21 YHBERK BIGT = N2 31 44. 34 5% ( 0.73)
22 [ Fl P BIGT = N2 2/ 3 49. 41 2#% (0. 30)
OPN FHL o3 k4SS /N 10/ 8 32. 71 8% ( 0.63)
OPN fFgE MIiE A hwrHR M 8/ 8 33. 54 8% ( 0.80)
OPN Kl H§+ Et:S'S N8/ T 33. 81 9k ( 0.75)
OPN #F  Air FHS C /N5 9/ 8 34. 45 7#% ( 0.67)
OPN Ei% Sk A h~rfrr /N3 6/ 2 34.93 8% ( 0.78)
OPN B FAfE#E A b~k 4 6/ 3 34.94 8% ( 0.88)
OPN Jil &+ A M~ R /5 6/ 5 35. 02 % ( 0.89)
OPN Eiff 72 % A h~vrHk M 7/ 5 35. 05 8itk ( 0.72)
OPN [ 4 A b=riry 4 4/ 4 36. 22 6%% ( 0.76)
OPN FKIL B¢ A bR N3 4T 36. 24 Tk ( 0.78)
OPN g mE k#Ss s /N3 5/ 1 36. 28 % ( 0.76)
OPN g  FEE WAYE-3EE:E /N4 3/ 5 37.04 5% ( 0.72)
OPN JJnpdede 2% A b~k /N3 4/ 2 37. 21 Tk ( 0.68)
OPN PrA Al A M~k N3 2/ 7 38.05 6#% ( 0.71)
OPN Z5fE  HIA B — MR /N3 3/ 4 38.09 6% ( 0.84)
OPN 8y b A b= HR NS 1/ 3 38.49 6% ( 0.74)
OPN B XWIE A M~ R /3 2/ 8 38.98 6#% ( 0.92)
OPN HillL 5% A b~k N3 2/ 2 39.17 6#% ( 0.76)
OPN V32 B £ A A h~rHrr 3 1/ 6 39.24 8%% ( 0.78)
OPN #aAK iEHK 4SS B2 11 41.83 % (0.78)
No.17 &+ 50m EHE RA L L—R R AR 21.68
L1112 >
B K 4 & FE KK B
1 SHIEFRYD BIGT 3 /N6 10/ 7 32.42 7% (0.72)
2 WPl < H BIGT 3 /N5 9/ 4 32.49 % ( 0.70)
SRVANY NS Z4S S /N6 9/ 1 32. 54 TR ( 0.71)
4 B B 1 G Hif 1 9/ 3 32.56 6#% ( 0.77)
5 ZRIR7I8 I KTPHO%»R /6 8/ 2 34. 00 6% ( 0.72)
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WA ;2023411120 (B) 2 BB IHHIEAK T —/1 (50m)
No. 17 ZF 50m EHHF B A LL—R R ARBEE 2768
L1112 >
EhI K 4 T B 2E KE B E
6 FTH  SERE KTP 2% /6 8/ 4 34.02 5%k (0.72)
7 YR NEE T B I GHg /NG 5/ 4 34.08 65% ( 0.76)
8 WH-D A B I GEME /)6 6/ 4 34.14 6% ( 0.72)
9 Pk Do B I G ¥ /N5 5/ 5 34. 41 6% ( 1.03)
10 RE B KTP2AM /)b 8/ 5 34. 71 6% ( 0.71)
11 B 7% BIGHEMHE /)6 7/ 2 34.74 5#% ( 0.66)
12 Rtk B I GjEfH /16 7/ 8 34.99 6% ( 0.73)
13 53 Fn BIGHE NG 7/ 7 35.22 4% (0.84)
14 ZHH S8 BIGEMEH /)6 7/ 6 35. 61 4%% ( 0.81)
15 B E£XK B I GHiF /NG 1/ 4 35. 94 5#% ( 0.86)
15 Ry H¥ B I GEFH /)5 6/ 6 35.94 5#% ( 0.88)
17 TEASRRI LASE KTP2%A2 /16 9/ 7 36.50 4%% ( 0.73)
18 3z  fEiE BIGAK®EH /)b 5/ 6 36. 69 4k ( 0.61)
19 BN BIGT /N6 7/ 3 36.72 3#% ( 0.66)
20 Ak EBH B I GHF /NG 6/ 8 37.30 4#8% ( 0.89)
OPN KEFX 5 & A b~k 6 12/ 8 30. 41 Stk (0.74)
OPN HH S P V=7 = I NS B VA 31.27 8#% ( 0.64)
OPN K 24 A b~ HR N5 9/ 6 32.78 7#% ( 0.89)
OPN A% i1k AYE = e NS 8/ 6 33.50 7#% ( 0.65)
OPN Bl 23 TI AR H NG 7/ 4 34.34 58k ( 0.74)
OPN HhHf TR WAYER:: ==h] 8/ 3 34.55 5%k ( 0.81)
OPN E/K A A = rHR NS 6/ 1 34.97 6% ( 0.80)
No.17 Z&+¥ 50m BEBHE A LL—RREE ARFLER 21.24
L 13- 14 >
Bf. KK 4 ir B 2E KE i
1 BA%E £ B I G 2 12/ 7 27.39 10#% ( 0.65)
- JOC
2 A AR KTP22AH,R 2 11/ 8 30. 41 T#% ( 0.73)
3 I il B I GHE 111/ 1 30.53 T#% ( 0.75)
4 BN BAER B I G#E F2 11/ 3 31.00 6:% ( 0.65)
b JEEEF  Fif B I GHi#F 1 10/ 1 31.86 6% (0.72)
6 LA uﬁ BIGEfMHE 2 10/ 5 32.50 6% ( 0.77)
7 MRERLY BIGT=3 110/ 2 32. 51 6% ( 0.75)
8 K Daéﬁﬂz B I GHifF 2 10/ 3 32.76 5% ( 0.72)
9 5% B B I GHE 2 10/ 6 35. 36 3tk ( 0.68)
OPN i & A b~k 2 12/ 2 27.74 10%% ( 0.73)
OPN J=H  ZEnig A h~2HR 2 11/ 4 31.13 T#% ( 0.65)
OPN "5  H:2P v — h/NEL R/ 7 31.14 7% ( 0.69)
OPN {31 #i4E IWAYE - JEE s F2 11/ 6 31.80 65% ( 0.69)
OPN R LM TI AR H 12 9/ 5 32.67 5#% ( 0.76)
No.17 Z+ 50m BEHF B A LL—RRH AREH 26.91
L 15mULE >
Ef. K 4 Fr & 2E KK =
1 AR =h 4SS =l 11/ 5 30. 36 7#% ( 0.69)
2 HH ¥ BIGT = =1 10/ 4 31.12 6% ( 0.67)
OPN HL  ZFBE HRUR X3 12/ 3 26. 60 9% ( 0.67)
OPN #ATH B HUR XK1 12/ 6 26.97 105% ( 0.60)
OPN A Rt R K2 12/ 5 27.10 9%k ( 0.64)
OPN 1|78  HEyR HFRR K3 12/ 4 27. 30 9%k ( 0.71)
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No. 17 ZF 50m B faAfz 84 LL—RRE X&EE 2691
L 15FBULE >

B K 4 & 2HE KB B e

OPN ‘=K K W mloo12/ 1 30. 44 6:% ( 0.70)
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